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Answer any one of the following:

1. What do you understand by make or buy decision? lllustrate your answer with an example.

Qauigm Ieng aMEGSm (gey undl Belf oflaug wrg? 2 wg udlme aOSSSST . (HIL 6T
allen & (G.

2. Discuss the need for reconciliation of cost and financial accounts.

ILS&alme wnnid Kldssans@amen sflda L Gaungnasrar Camemw alleurdlss.

3. Tulip Ltd., produces a product which has a monthly demand of 4,000 units. The
product requires a Component A which is purchased at Rs.20. For every finished
product, one unit of Component A is required. The ordering cost is Rs. 120 per order
and the holding cost is 10% per annum.

You are required to calculate:

i. Economic Order Quantity; and

i) If the minimum lot size is 4,000 units, what is the extra cost Tulip Ltd., has to incur?
gl . 2 pusdl Qeiwd CQurEEnsE wLISHST Gzmen 4000 IEGSHT. QS
QuIrmEmeSE suTmISLILGLD 67 eTeirm GuTafleT allsmev em;.20. QT WigaiHm HOGSDHESL (5 6
Qurmer @M NG GCsmalU@L. oG IJYmETSSTEL Gsoel e5.120. urmofliy Qe
UBLSINEG 10%. BriseT Samssl Colsmigig):
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GlF6ue] 6TaIGIETEY?

4, In the course of manufacture of the main product P, by-products A and B also
emerge. The joint expenses of manufacture amount to Rs.1,19,550. All the
products are processed further after separation and sold as per details given below:



Main product By-products g
P A

Rs.

Rs. Rs.
Sales 90,000 60,000 40,000
Cost beyond split of stage 6,000 5,000 4,000
Profit as percentage of sales 25% 20% 15%

Selling and administration overheads are absorbed as percentage of cost of sales.
Prepare a statement showing the apportionment of joint cost to the main product

and by-products. Also prepare main product P Account.
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Answer any one of the following:

1. Explain different types of Contingent contracts.
ueeumSLILL L [laelsmT elLUbsmigmer allersEe.
2. What are the rights and duties of an agent?
aeaufler 2 flsmowjd, SLenLowd wWirene?
3. Explain different types of goods.
F15GS6fleT eusmasem wreneu? elleufl.
4. Explain under what circumstances pEmployer is liable to pay Compensationf.
Qamfledlur Qgmflorallsss amng GLblamaulod @uinih Gsuw GCaemGin ?
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Answer any one of the following:

1. Orange, Apple and Banana were in partnership sharing profits and losses in the ratio
of 3:2:1. They decided to dissolve the partnership and to distribute the sale proceeds as

and when realised.

The partnersy capitals were: Orange Rs.10,000, Apple Rs.9,000 and Banana
Rs.5,000, Applefs Loan (Cr.) amounted to Rs.3,000.

Sundry creditors amounted to Rs.6,000.

The assets were realised as under.

Stock Furniture Debtors Expenses
Rs. Rs. Rs. Rs.
July 3,000 300 2,000 500
August 2,000 300 1,500 200
September 2,500 2 2,000 300
October 3,000 2 3,500 200

You are required to draw up a statement showing the distribution of Cash and the
Journal Entry for closing finally the Capital Accounts of the partners by following
the proportionate capital method.

QLTEhs, guUlet wHmId aumemplLpd  Ew epeud 3:2:1 eeTm  elFleSHl0 aTUSMmS
Wfsgs Gararepd sl Lmeflsar  gar. Bnoarsms smasg, QIMeshn &SlmdsgL
Qurg o Lemeurs YEIGMSTS 556 Gstau(ererart. & LLraflssar epaugerd
TEhs  em.1,000, gyluder em.9,000, wHmId eurenpLpD ¢5.5,000. gyuder sLeT  5.3,000
(ourTey). SLefEEHTTSHeT

¢m.6,000. Qarsgigaem L6t ebLomn| LeTLm &aLILiL L 6.



DTG SOTOUTLBISAT SLarTaflgsar Gaee)

ef6men 3,000 300 2,000 500
3L,56r0(h) 2,000 300 1,500 200
Gl&i_Lbuir 2,500 - 2,000 300
9156Lmur 3,000 -- 3,500 200

2 ufl epeger gpliuemLuled @ Uplugwrs QITEsSL aPEIGSHH IbsHmas

RO SWTl&saL.
2. On 1st July 2000, a company issued 2,000, 6% debentures of Rs.100 each. The
interest is payable on 30th June and 31st December every year. The company is
allowed to purchase its own debentures which may be cancelled or kept or reissued at
the companyfs option. The company made the following purchases by cheque in the
open market:

On 31st May 2001 - 200 debentures at Rs.98 ex-interest.
On 30th Sept. 2002 - 100 debentures at Rs.97 cum-interest.

The debentures, which were purchased on 31st May, 2001 were cancelled on 31st
December, 2002. All payments were made on due dates.

Give journal entries to record the above transactions (including receipts and
payments) and also the relevant items in the Balance Sheet as on 31st Dec, 2002.

2000. sfemev 660 e Hlmiod e;.100 wdliyeter 2000 sLer uSHlrEiGamer GeueflullLg.
selGeurm guemTGd efer 30 wOMID wsbUT 31D EreT el GeaSSIUL GeusmTELD. &b
Bl gerg) sLear usdlrtismer surmidl Flgion elmiuiuge 16585 QauiwGar geeog L
Qeuaflui® GeiwGor gmudlssiu’Lg. srCamme eypeowrs Blmwod  GNeTamd  SLeT
uS SIS 6T
QevaflFanamaulled surmidluig.
31.05.2001 gyevrmi em.98 aisid aulipuflsder eflsmeuullsh 200 SLaT LSSITEIS6T.
30.09.2002 geim e5.97 eisb aulpuar &igw elmeoulsey 100 s usdlymiser. 31
Cuuiled aurmidly sLar ugHrmisar 31.12.2002 Lein T&S
Qauinuiuc L g 2 flw preflsd sTedor CQEaISHa8EHI (ighSe0.

3. Differentiate between External Reconstruction and Internal Reconstruction.
I8 dremulliin@L, un FrouiiinE 2 arer Coumur®SeT wrene?

4. What do you mean by liquidation of a company? Describe the different methods of winding up.

blmieuer semevliL| eTeiTmmed eTeuteur ? [Himieusor semevlidlest LsvGoum (psmmassmen el
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Answer any one of the following:

1. Explain the points to be kept in mind by an auditor before commencing a new audit.
R0 Uuswu saflsémamus CSTLEGUSNE WPaTaTSTS Seflsmawmeri weardlsd @aserer
Gousmigw ellogWIBIS6T WiTemey?

2. Discuss the general principles of valuation of
assets.

Qarggissmen wHITH CFuugnasTar Qurgaildlsmend g ns.
3. Explain the factors affecting the
determination of accounting profits.

s d@GLuSlallwe orusmad dirurafls@n srramilsmen alers@s.
4, 3Part Il of the first schedule deals with professional misconduct in relation to members

of the ICAl in service” * Elaborate.

3 s g Leuenewrullesr @rewimd UGS uvenfluled o eer @.u.s.fl 2 mileriTasefler

Qamfloerins SusLgms unil elauflésng” - allors@e.
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Answer any one of the following:

1. Describe the essential features of life insurance contract.
e STl ige @erdlwsniowr Sminwsdysemer elaufl.

2. Explain the features of Mortality table.
@iy 9L L eusnemTullest (GeuorTSlFWBISET WiTemeu?

3. Discuss the method of calculating surrender value.
grenmagl LSl sasElHaugnsrer (pamnsamer allaufl.

4. What are the principles of rate fixation in fire insurance?

& asriiilige elme Elitewnus Gameatengsamw allourfl.



